	Answer for Chapter 5 lines 507 – Chapter 6 lines 625 

	
1)
	Where does Dorothy oil first?
The Tin Woodman’s neck
	1	

	2)
	for he seemed a very polite creature, and very grateful
What is the meaning of ‘grateful’ in this context?
	

	

	X

	

	

	

	


Tick one
                                                                               
Appreciative 

thankful

obligated

welcome 
	1



	3)
	Why didn’t Dorothy notice the Scarecrow has fallen into the hole?
Because she is too busy thinking 
	1


	4)
	The Tin Man and Scarecrow debate which is better: head or heart. Using evidence from, the text, who do you agree with. 
Head -"I shall ask for brains instead of a heart; for a fool would not know what to do with a heart if he had one."
Heart - I shall take the heart," returned the Tin Woodman; "for brains do not make one happy, and happiness is the best thing in the world."
	2



	5)    
	What was preventing the Tin Man from marrying? Give reasons
The woman she lived with who lazy and she wanted the munchkin girl to stay and look after her and the wicked witch who then interfered 
	2



	6)
	Put the statements in order from 1-6 the first one has been done for. 
	Statement

	1-5

	The Lion is about to bite Toto
	5

	They hear a terrible roar
	4

	The Tin Man explains how he became made from Tin
	3

	They free the Tin Man
	1

	Dorothy was worried by the lack of bread 
	2



	1

	7) 
	Look at lines 605 – 611. How will Toto be protected?
By everyone else: Dorothy, the Tin Woodman and the Scarecrow. 
	1

	8)
	What three things does the lion do? 
He his the scarecrow with his paw, struck the tin woodman with his sharp claws and had intedned on biting TOTO. 
	1 

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false.
	  
	True 
	False

	The deep growl came from an animal hidden in the trees
	X
	

	The Tin Man is not afraid as long as he has his oil can
	X
	

	The Woodman fell over and lay still
	X
	

	Toto ran to face his enemy
	X
	



	1 mark

	10)
	In what ways are the three main character protected? 
Scarecrow has his stuffing, tin woodman has his oilcan and Dorothy has the man on her forehead from the good witch.
	2

	11)
	Summarise the main points of how the Tin Man became tin.
[bookmark: _GoBack]After his axe was enchanted he cut off both his legs and got them made out tin, then cut off his own head and then finally cut his torso in half so the tinsmith fixed him together and gave him joints so he could move.
	2
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